TR &

260000 Triumph Sprint

Kit Includes:

4X Brackets with 6 lug nuts pre-attached CFK260000 + CNUTO21 1
8X M6 X 16mm Flanged Button Head Machine Screws CBOLO25]1

8X Mé Black Plastic Washers CWAS0221

2X M6 Large Black Plastic Washers CWAS0230

1X M6 Flat Steel Washer CWASO20]1

1X M8 Flat Spring Washer CWASO301

1X M6 X 20mm Hexagonal Head Machine Screw CBOLO219

1X M8 X 12nm Hexagonal Head Machine Screw CBOL0212

2X M6 Hexagonal Shake Proof Flanged Nuts CNUTO101

® Fit the 4 brackets to the motorcycle in the places show below | ).
All mounting points between the brackets and the motorcycle use exisiting fitfings
unless otherwise stated below.

To fit bracket B to the motorcycle,
you Wil need the Mé X 20
Hexagonal Head Machine Screw

& the Mé Flat Steel Washer provided.

To fit bracket C to the motorcycle,
you will need the M8 X 12
Hexagonal Head Machine Screw
& the M8 Flat Spring Washer provided.

Note:

Be sure fo fit the 2 Mé Large
Black Plastic Washers & the 2
Shake Proof Hexagonal Nuts
onto the B surface of the
Fairing Lowers.

To fit the Fairing Lowers to
fhe brackets use 3 Mé X
16mm Flanged Button
Head Machine Screws & 3
Mé Black Plastic Washers
IN places shown. Repeat
on the opposite side.

To join the two Fairing Lowers
fogether af the bottom use
2 M6 X 1T6mm Flanged Bution
Head Machine Screws,

2 M6 Black Plastic Washers,

2 M6 Large Black Plastic Washers
& 2 Shake Proof Hexagonal Nuts

INn places shown.

View diagram above for the fitment order.

Mounting point
visible underneath




